7/22/2019

Combined Higher Secondary Level (10+2) Examination-

2018

[Roll No.

[Registration No.

Name WW.QMATHS.IN

Test Venue iON Digital Zone iDZ Chandpura
Test Time 10:00 AM - 11:00 AM

Test Date 05/07/2019

Section : General Intelligence

1. IO AT
2. AT ATRITE

3. glcd H 38T
4. Tt Ridll Y A
5. Tided UR ggd-T
Ans  of 1253 4 1
75 2.3,2,54,1
753.2,531,4

75 4.53,4,2,1

Q1 fgfifaa nfafalRry @ aifdbe ik Trde wa & srafd s

Question ID : 98958016756
Status : Answered
Chosen Option : 1

Q2 A+BoTadR AUl BB
A-BSHTATR'AHES B BT
AxBHIAIR'ATEIC B P
A+B®T TR 'AAMIET B P

Ans X 1.3
X 2.
/3.9
of 4. T

REP+R+SxM-Kg, dI R P FaRE & KA?

Question ID : 98958016762
Status : Answered
Chosen Option : 3

g WA @

S draa

Ans  of 1 dfaT: HiE

25 2. TR yffeR
X 3.7 S

25 4.9 SmymuT

Q3 I - B 90 B Fored 3 e Sl e & <eifra § o Frafafea weegm d 3

Question ID : 98958016763
Status : Answered
Chosen Option : 1

Q4 Pofufad aiie o 98 TR & Rie s 5 5 gl ) te-ga & 9ea gim?
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405 + 27 x 40 - 308 + 22 = 314
Ans X1,+aﬁ?x
J2.+GﬁT+
X3.xéﬁT+
7S 4.+ 3R -

Question ID : 98958016768
Status : Answered
Chosen Option : 2

Q.5 Three of the following four words are alike in a certain way and one is different. Pick
the odd word out.

Ans " 1. History

x 2. Political Science
x 3. Sociology

« 4. Biology

Question ID : 98958016765
Status : Answered
Chosen Option : 1

Q.6 o9 afdaal A, B 3R ¢ & U S-S AR TN afC A, CHT6 AATe, AP UHB S
IR IR ERA 1 A 3R B F U ot el 7 274 €1 B & U fra vud §2

Ans  of 1 40
/52,30
/53,44
/5 4.34

Question ID : 98958016767
Status : Answered
Chosen Option : 1

Q7 77 gy o TOF FY S AT & T HFS HWT F TS FUW T HTE

Ans A ; ?
<1 o
K
K
K

Question ID : 98958016775
Status : Answered
Chosen Option : 2
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[N 7

Q.8 wue & gy #r 2 eET-areeT Fufddt # A gy §, Ee o vest W 1 ¥ 6 gEaw sfEa
#1 '5' AT 9T B F WHS I §Ed AT ST

P
X1

Ans

X
S
N = Wb

Question ID : 98958016774
Status : Answered
Chosen Option : 3

Q.9 fFufafad TR srer-TEl # & @9 2rer-wqe te FAifda 7id & te 9 § ok u& e
21 3 e ER-TYE P gl

Ans X" 1 XBFJ
75 2 HLPT
W 3.coka
/5 4.DHLP

Question ID : 98958016764
Status : Answered
Chosen Option : 3

Q.10 fgfefed gEar d $1H-0 T uy g (?) =™ R git?
16, 18, 21, 26, 33,2
Ans  off 1 44
< 2.43
/< 3.46
7S 445

Question ID : 98958016772
Status : Answered
Chosen Option : 1

Q.M QY wyA AT MY §, 39% a1g FI fsawd 1, 1 3R 11 RRE T § 1 Fy=1 B W wa gu, va &
3 M AR TR 9 Tl B e 8, gg vl Wfifre fh e1-ard foreed syt o1 aifdhe
TYF RV BT /A B

DY

I & vud
93Ul e 7
forsep:

1. $9 T e B

1. ®1g W ot Ryt T8 21
i1, BYS ot Fuar Rygest T8 21

Ans X 1 Fad e 11 3R 111 SRR R4 T
< 2. Faet frspef | SR 11 SR FRA T
o 3. 1T I | 1T 11 SR R B
25 4. 39 Y | ST 111 SRR R B

Question ID : 98958016766
Status : Answered
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l Chosen Option : 3

Ans

Q.12 ‘Kidney’ is related to ‘Excretion’ in the same way as ‘Heart’ is related to

x 1. Artery

x 2. Human body

x 3. Heart Chambers

of 4. Blood Circulation

Question ID : 98958016760
Status : Answered
Chosen Option : 4

Ans

289

146

182

196

Q13 I AWA-GH BT 949 Y Fored g1 T It e @ wafta § 9 & Frafafea der-
g P} G T Hafa g1

19 : 380

117
K212
o 313
44

Question ID : 98958016769
Status : Answered
Chosen Option : 3

Ans

r R0

Q14 3R T g S HHTS F I HY W@ TR & Re e Ry & w6 gdur sy #oaae st

N

Question ID : 98958016779
Status : Answered
Chosen Option : 2

Ans

25 1.(5,25,625)
252.(3,9,34)
o 3.4, 16, 64)
54.(1,2,6)

Q.15 IW Y=Y HT 997 $Y forad H@Ig S ave | waftd & i s Frafrfea ag=a at
Tt <t 1

(2, 4, 8)
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Question ID : 98958016770
Status : Answered
Chosen Option : 3

Q.16 TN 37eRY & TG BT 79 B ol fop & 7S 3reR e & o wiHl & wive ©ud 3@
WM TR 4T QR B

s__mrqct_pdm_q_ts__ mrqct

Ans X" 1 pdsrbpd
X 2. rdsrcrd
X 3. pdsrcrd

J 4. pdsrcpd

Question ID : 98958016761
Status : Answered
Chosen Option : 4

O g gt 3 Pt P g 37

Ans 124
X222
X 25
X4 23

Question ID : 98958016776
Status : Answered
Chosen Option : 4

Q.18 TH HIS HIUT H, VERBATIM Y EUHYPLWD & =4 ¥ foram St 21 39 H1or §
SALESMAN 9 foraT simemm?

Ans " 1 OHVDDQVP
« 2. HoDvVQDPV
/% 3. VDOHQDPV
/5 4.HODVVPDQ

Question ID : 98958016757
Status : Answered
Chosen Option : 2

Q.19 fgfifead ar demnsi # @ @i Jen v e a8ie S te oF § iR Te e 81 39
3T T I BIfoTE|

Ans X 1170
/5 2.65
o 3195
5 4.50

Question ID : 98958016773
Status : Not Answered
Chosen Option : --
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Ans

5 1.7383237
5 2.8393117
o 38393237

/X 4.8393127

Q.20 gfg YOGHURT I 7678392 % U H hISdg [bdT AT &, df QUICKLY B! 8 Hledm
foar Sem?

Question ID : 98958016758
Status : Answered
Chosen Option : 3

Ans

25 1.(15, 17, 23)
W 2.(23,29,31)
53.(17, 19, 21)
75 4.(14, 16, 18)

Q21 39 HYd BT I97 Y o Wt 3t ave & Waifta § o o Frafafea sg=a ot
s w31

(5,7, 1)

Question ID : 98958016771
Status : Answered
Chosen Option : 2

Ans

X
=

J

i

v 2

g

I

B - ]

L]
L]
L]
L]
1

-

e

e e e

Q.22 ofy orgeft Fers 1 o w g T @ A v A ofe BeafafEe et # @ e v s

Question ID : 98958016778
Status : Answered
Chosen Option : 2

J&R-TYE | Feftd 81

MDUK : QHYO : : SALQ: ?

Q.23 I fAHeq BT Tg4 ¥ Wl TR AHeR-TYE A ST ave Haiftd & TN gORT 31&R-TYE Ugad
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Ans X 1. WDPU

/< 2.VDPV

25 3. WEPV

o 4. WEPU

Question ID : 98958016759
Status : Answered
Chosen Option : 4

Q24 zx 3= M F1 TOF FY A HEATSTET T F & F FET I TEY FHTOT 20T B

Ans

o

52

Question ID : 98958016780
Status : Answered
Chosen Option : 2

Q25 =37 fawer @ = FY o Fevew At §1 (rEf = gaw & sy )

5

Figure-X

X1 ﬁ

Ans

Question ID : 98958016777
Status : Answered
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l Chosen Option : 2 J

Section : General Awareness
Q1 e & A fFd qREGAT ST 9o Hel ST 872
Ans  of 1 FER S

K 2. fdead

25 3. ST UReg

5 4. %7 i

Question ID : 98958015272
Status : Not Answered
Chosen Option : --

Q.2 faggd ufedty 1 Ty o (SI) 3HTE |82

Ans X 1 dTe
75 2. TR

W 3. 30m
p R

Question ID : 98958015268
Status : Answered
Chosen Option : 3

Q.3 3 guNT rigia- fpw adf & 3= fomar mam uT?
Ans  of 1 1920

25 2.1919

/5 3.1856

75 41877

Question ID : 98958015277
Status : Answered
Chosen Option : 1

Q4 IYI3A FaRe-quR IR (P TRih Iw{= a1 wrar 3) Fufrfea o 4 fra furd
B AP B e amar S aren et 872

Ans X1_tnﬁ«|zh
o 2 TRks
5 3. 31 TR (CHABIIS)
25 4 g

Question ID : 98958015269
Status : Answered
Chosen Option : 3

Q5 fafafed ® 3 gRws ¥ Rigyw Rrar & srgeisT # frae! agayel @ 82
Ans J1H§ﬁm¢[

5 2. e

< 3. Fri

4T

Question ID : 98958015276
Status : Not Answered
Chosen Option : --
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Q.6

Ans

TRUIE AT 2019 § Fraferfea # @ by garg 32 &) AR Aradt TR

ﬁ%%ﬁ%m&%ﬁwmwmo

2 1. SfeR mieh sieRfgia gard srgr

75 2. TS SfRIPH gaTs orgT

o 3. 9 & srg

#< 4. TR Rarsi HERTS! S{aRIPT gars Sl

Question ID :
Status :
Chosen Option :

98958015286
Answered
1

Ans

Q.7 Huer F e #, PDF 1 qof Tu T §?

25 1. TEa Siagic wite
X 2. UiR@Ee Slagic witle
75 3. Uidea feee witle

W 4. O¢ed Siagic wide
Question ID : 98958015271
Status : Answered
Chosen Option : 4
Q.8 HHRS AR fora =g A fRE 82
Ans  of 1 s
5 2. 3REs
25 3. TiTe
5 4. SRBUTI TSR
Question ID : 98958015265
Status : Not Answered

Chosen Option : --

Ans

X 1. i
75 2. sfrm
/5 3. Racerds
v IR

Q.9 fFH I T AHTRIRBRI TS, 'S eI SRT 3TH I TS AR FT TBATAT 372

Question ID :
Status :

98958015273
Not Answered

Chosen Option : --

Ans

Q.10 2018 T 7ig A DSBTS (Ball tampering) & ATHA | fovdre sifeeforar grT fFafafaa
Sfeferars firdre faenfsal & & fvw W ufoay =15t aman war 12

X1 K

o 2. & famad
/5 3. Sfagark
X 4. FTRA STpTIE

Question ID :
Status :
Chosen Option :

98958015284
Answered
2

Q.M Fgfafa 3=t ¥ F F19-11 3 g5 faRIeare T AT B & Y sragar 2020 & a6
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Hed ithw » Ht ASaT B2
Ans x 1,973

75 2. sfcrm

75 3.3

W 4 e

Question ID : 98958015288
Status : Not Answered
Chosen Option : --

Q.12 FrafafEa § A e 2019 # 3T 64 § febar [ReR # <wddy afimar @iy
IRt § RS Sfter?

Ans  of 1 aiferrve
X 2. wEdl dR
£< 3. e
5 4. 9T St @H

Question ID : 98958015280
Status : Answered
Chosen Option : 1

Q.13 fgfifad & @ P-4 Teg YR GiTUT & 42 § e gRT UTa=T & 2 fovar
T >T?

Ans 11_3{@3?”
75 2. onffe
25 3. Terifas
25 4. SR

Question ID : 98958015282
Status : Answered
Chosen Option : 1

Q.14 3y yrRTgS feaw ufa af wa w=mar o 82
Ans  of 1 05 T

25 2.5, AR

5 3,15, S

75 425, SATER

Question ID : 98958015287
Status : Answered
Chosen Option : 1

Q.15 TP HU O 2003 F T1g WA fraT 74T 8 3R IS qdd HIAd (QgEH) 1
ﬁm;emﬂa%mﬁam% , 1 39 UPR Pt U1 S IGNT ST | fr 919 | Se=n
ST 82

Ans X 1 RAIBIR wIENT BT
25 2. 5 firR wréam Sut
5 3. I w3 U
o 4 g wréem Hur

Question ID : 98958015266
Status : Answered
Chosen Option : 3
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Q.16 FufifEd § ¥ S9-91 Rrer 7Eue IsT » Jad THRT & @ Rrel § 78 82
Ans  of 1 fiscarer

25 2. R

< 3.7

5 4 fis

Question ID : 98958015275
Status : Answered
Chosen Option : 2

Q.17 PR & | $19-91 760 HRA ST 96 981 ¢ SUGS T 872
Ans X 1 FHAlCH

o 2. ufim sma
5 3. IR
5 4. ATTES

Question ID : 98958015274
Status : Not Answered
Chosen Option : --

Q.18 7g 2019 #, HRH fafdear srgdYT™ ukug (ICMR) & WHR, P fmard 729
%Wmﬁ'zmgwﬁ?hvﬁwwmmw‘hmﬁwﬁmﬁa
T

Ans  of 1 S@H urig
25 2. o IR g
25 3. SETRY I
5 4 S wEE

Question ID : 98958015279
Status : Not Answered
Chosen Option : --

Q.19 {9 IR BT S 1F-91 TR AR ame FaRt ¥ gHiaa giar g2
Ans X 1 Tf®

X 258
3. &l
K adl

Question ID : 98958015270
Status : Answered
Chosen Option : 3

Q.20 I HRAT 37X -19 G frdbe A o1 Hia oI o1, oA oisT -19 fay $u 2018 Sfiar
u1?

Ans x 1. 3 Faat
/< 2. A Rig
25 3. dTerEe Iegd
W 4 g S

Question ID : 98958015283
Status : Answered
Chosen Option : 4

Q.21 IugH (g & IR & FafafEd & @ $1-a1 $3= T T8 22
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Gregeh) UeH IR B
Ugd ft SUHT YA 351 S g B, 99d $B W G 7Y o

T gY Srar 8 & =gt 1 YA e S e 71

Ans X 1 e O & GRM HHATRA §RI UM & 7T dareit & fog Faed 3% IuaH
27X 2. 3ueH @) BT YA AR W JaTigRy & T far i § afee Jarfrafr &
25 3. fordht ARt &t g & Uid OTd R 89 9 Ugd a1 3G 98 el a1 SR & BRUT

o 2 B 2 I Haa @bt It U A BT O B Al 39 et WTe A # graw

T T B Hdl G R A B
Question ID : 98958015267
Status : Answered
Chosen Option : 2
Q.22 wRast 2018 H, P ICC B Ugal T ufger ez & Fu ¥ fgea favar war am
Ans X 1 TG IR
v 2. =Tl
25 3. e siar
p R A uA
Question ID : 98958015285
Status : Answered
Chosen Option : 2
Q.23 Frafifld § @ P AMeyd® "WRd T 94195 oW Hel ol 82
Ans o 1. arani AR
25 2. TS SETgR AT
5 3. feftT g ura
75 4. T
Question ID : 98958015278
Status : Answered
Chosen Option : 1
Q.24 %9 Ty ¥ yfoay aRAGR AT ST || 872
Ans X 1 TfoTgR
25 2. 7 U™
f 3. TRE
7< 4. e
Question ID : 98958015264
Status : Not Answered

Chosen Option : --

AE[H A gl
Ans  of 1 21 dd

25 2,289
/5 3.329d
25 4249

Q.25 YR WU & 3T 243 V & TR, TRUMIST BT Tawd 51 & ¢ gam

Question ID :
Status :
Chosen Option :

98958015281
Answered
1
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Section : Quantitative Aptitude

Q.1 far e &5 ¥ (8 TF) o fied at, 2013-2014 & 2017-2018, & = U& Ut gaT Afda
et a5g (27 #) F ama Ak BT & g §

1800 T Exports| sl i8sa |
1600 { @ importa 1513

1400
1200
1000
200
600
400 4
200 4

0132014 015 g DBV 201718

91 fed aut & e e (2 @) & sitwa fraer 2
Ans  of 1.1279.6

< 212795

< 3 15524

X 4 1025.9

Question ID : 98958017154
Status : Answered
Chosen Option : 1

Q2 3pr @ 3w $ T GET 6220x558y2 FEAT 88 ¥ s ¥, At (5x+5y) F AT &
Ans X 1 45

X2 55

V'3 20

X4 25

Question ID : 98958017140
Status : Answered
Chosen Option : 3

Q.3 frar e &5 I (SW TTF) 9 f¥ed at, 2013-2014 § 2017-2018, & N vw Fua @ EE
fordr a5g (&7 #) F a3k i & g &

1800 T ponts| bl CES
1600 %-mwm 7528 1513
1400 1256
1200 i
1000 824

éau

200
500
400 4
200 i

o-

032014 0W15 ayeqs DIET 201718

frw facg 99 #, T AR e = JeTe wEifeE §
Ans  of 1. 2016-2017

X 2 2017-2018

2 3 2015-2016

# 4. 2014-2015

Question ID : 98958017152
Status : Answered
Chosen Option : 1

Q.4 fprsr ABC &, AB it AC s[=maf X D 3t E % 2 fig 5@ g § &% DE Il BC 3k AD/BD =
5/6 §1 AABC % TT Twelw wge= DECB & &9%a & 3T &

Ans X196 : 121
X2 36 : 121
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Vs 121 : 96
X4121: 36

Question ID : 98958017148
Status : Answered
Chosen Option : 3

Q.5 ws AABC #, 4B R £C ¥ wegfas=® fe & ey O fig o foow &1 s £BoC—148° %, &
LA FT AT T

Ans o1 g7°
X2 29°
v 116°
X 4 5g°

Question ID : 98958017147
Status : Answered
Chosen Option : 3

Q-6 =g FEEgEs @ awwer (em? ) e g fEEr e 20 cm ¥ 3t T Rt 24 em #?
Ans X 1. 396

< 2 392

V5 384

<4 350

Question ID : 98958017133
Status : Answered
Chosen Option : 3

Q7 v e & 2 ey widl, B ¥ ve@s i For 23050 o 3T vE I5g 10% @il o sk gmd
zo%amwaaérlﬁgﬁrﬁmﬁqﬁama:rmgmmgﬁrg@

Ans X 1. 10% @TH
v 2 5% ameT
X 5 5% gifer
X 4 10% g

Question ID : 98958017137
Status : Answered
Chosen Option : 2

Q8 7 cm 3 9 om B=w F & g7 THg@EY F A 3t B figat w Fed #1 W AB = 10 em ¥ 3R
FA S FAFITT T xem §, A x FAS &

As X1 2(VE+ V)
v 2 2(V6+ VT4)
X o (V6+TA)
X (VB+7)

Question ID : 98958017146
Status : Answered
Chosen Option : 2
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4% 150f8+6 +[(27 —3) + 6 + 4] F WAFT AT &
ans X 1128

<2130

V'3 134

x4 136

Question ID : 98958017141
Status : Answered
Chosen Option : 3

Q10 Fm Tt 172 : 23 : 34 F Fgwa # §1 T a9 AR TES o TEm & e 27 31 A wemst
F7 AEaT &

Ans X 1. 54

Question ID : 98958017138
Status : Answered
Chosen Option : 2

Q.11 2
3T cosh = =L
P24+1

, (p = 1) &, @ cosec 6 T &

Ans P21

iy

XZ.E—P

PZ+1

x 3 Pe—1

Zp

S pz_g

Question ID : 98958017149
Status : Answered
Chosen Option : 1

Q12 faa= ABC # 302X U Ied @41 AT £ IF AB, BC 3R AC o=t #t wawrn P, Q 3R R fagat w
T FTAT §1 3T BP = 9 em, CQ = 10 cm 3T AR = 11 cm &, @ AABC & affflfy (em #) &

Ans x1_ 75
X 2575
v s 860
X4 725

Question ID : 98958017145
Status : Answered
Chosen Option : 3

Q.13 A certain amount invested at a certain rate, compounded annually, grows to an amount in five years, which is a factor of
1.191016 more than to what it would have grown in two years. What is the rate percentage?

Ans x1_ 4
V26
K35
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X4 8

Question ID : 98958017139

Status : Not Answered

Chosen Option : --

Q.14 fmr rn €8 3@ (A T1) i fed @S, 2013-2014 § 2017-2018, ¥ SN U HU aFWT WiET

foral a5g (27 ) & ama AR e @ g §)

1858

1538 1513

mzams 205 geqs WIEV 201798

st oed =t % e @ e AR FF e @ e w4

X 1. 2014-2015
< 2 2015-2016
V'3 2016-2017
X 4 2017-2018

Ans X' 1. 4011 : 4175
/< 23199 : 3073
< 3 4175 : 4011
v 4 3073 : 3199
Question ID : 98958017153
Status : Answered
Chosen Option : 4
Q15 3pw 2sin?0 +5c0s@ —4 = 0,0°< 8 <90° &, A cot 8 +cosec 6 FT AT &
Ans x ; 2
3
X2 33
2
X3 3
2
V3
Question ID : 98958017151
Status : Answered
Chosen Option : 4
Q.16 faar w17 &5 3@ (¥ aTF) uiw faew awf, 2013-2014 & 2017-2018, & NI U& it gamT fafda
et axg (2= #) ¥ ama sk T @ afar §
- 01320014 2015 apjeqp WIS 2017418
frw faea a9 # Trow Ro af & goen & a3 7 sfoee gy e 22
Ans

Question ID : 98958017155

Status : Answered

Chosen Option : 3

16/24



7/22/2019
SET W fhae e F o w7
A
ns J13§
4
X252
4
X3 5%
4
r 31
4

QA7 A B 3t C o FH #F FAw 5, 20 AR 60 A F @ W w7 ¥ verwy FeeR FH FE W, 3

Question ID : 98958017131
Status : Answered
Chosen Option : 1

Ans X 1. 1350
# 21600
% 3 1680
v 4 1562

Q18 gz a2+ b2=1353kab=7(a>0 b>0) ¢ a @3- bd) & 7= &

Question ID : 98958017142
Status : Answered
Chosen Option : 4

P IR (2x—7)°+ (2x—8)°+ (2x—3)* =

Ans X1 9
X2 4
vs 3
X4 1

3 (2x—7) (2x—8) (2x—3) &, ar x FT AT F4T 7

Question ID : 98958017144
Status : Answered
Chosen Option : 3

Ans J1_ z 1[}
<2 310
< 3 310

X415

% 3ER x*+x7t= 1442, (x > 0) &, @ x+x~! @ AT @O

Question ID : 98958017143
Status : Answered
Chosen Option : 1

sferra # 7 /A (Feaean piis aF 78 382
Ans X 118% Fr T
< 2.19% Fr FAT

Q21 v dw # 30% H FA W, T 30% # IR g8, B dm 30% F 3fF gel v A e
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v 18% #r i
K4 19% #r g

Question ID : 98958017136
Status : Answered
Chosen Option : 3

Q.22 o weel % v 9fER $r 9 3¢ Tger HEE Y 33 I O 3w, H AT weEw 5 I §, S
AT 8 I % FNAR e & W G FA A §1 3N GRAR & T e 7Y 394 & § e
9 ¥ g off, A WEW T AT HeET A WG (A H) T §2

Ans X129
X217
v 26
X4 35

Question ID : 98958017134
Status : Not Answered
Chosen Option : --

Q.23 F¥ FR AR AT T 25 km F¥ g T FIA §1 3R AT 8 ke/h FFEF g, & 3 3T A 10
o FF TS| FR H A (km/h #) T R

Ans X1 4
X225
Vs 2
X443

Question ID : 98958017132
Status : Marked For Review
Chosen Option : 3

Q24 3@ 12c0t?0—31cosec8+32=0, 0°< B <90° &, aF sin® & A gr:

as
x 2
X
x4

- - -

-
F S TN T o T TS SR TS T B S <A (7

ER TS B (N A LTI R T

Question ID : 98958017150
Status : Answered
Chosen Option : 1

Q.25 =it 93 25% #r ge ol vE AREr F e & wle AR e s e WO 20% # safe oo
| 3E 2480 T A T &9 W RrAr S @ v (2 #) A

Ans o 1. 800
# 2 950
% 3 750
X< 4 825

Question ID : 98958017135
Status : Answered
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l Chosen Option : 1 J

Section : English Language

Q.1 Select the most appropriate synonym of the given word.

STERN
Ans ( 1. strict

x 2. mellow
x 3. proud
x 4. shrewd

Question ID : 98958016078
Status : Answered
Chosen Option : 1

Q.2 Given below are four jumbled sentences. Out of the given options pick the one that
gives their correct order.

A. The fire destroyed many buildings which were rebuilt with red clay tiles.

B. In the year 1689, a huge fire engulfed the city.

C. Prague in the Czech Republic is known for its striking red roofs.

D. Even now, traditional red roofs are included in any repairs or new construction.

Ans X" 1. CADB
/5 2.DCBA
o 3.cBAD
/5 4.BADC

Question ID : 98958016077
Status : Answered
Chosen Option : 3

Q.3 Fill in the blank with the most appropriate word.

The man heavy losses in his investments.
Ans X 1 reaped

( 2. incurred
x 3. earned
x 4. raised

Question ID : 98958016088
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

In July, 1937, the Japanese used an incident to provoke a war. They (1) China and
occupied a major portion (2) it. Chinese and Japanese (3) clashed in northern
China, throwing the entire country into (4) . Millions of people were shot (5)

death.

SubQuestion No : 4
Q.4 Select the most appropriate option to fill in blank number 1

Ans X" 1 extended

5 2.included
J 3. invaded

X 4. persuaded

[ Question ID : 98958016071 ]
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Status : Answered
Chosen Option : 3

Q.5
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

In July, 1937, the Japanese used an incident to provoke a war. They (1) China and
occupied a major portion (2) it. Chinese and Japanese (3) clashed in northern
China, throwing the entire country into (4) . Millions of people were shot (5)

death.

SubQuestion No : 5
Select the most appropriate option to fill in blank number 2

25 1. for
x 2. from
o 3. 0of
75 4py

Question ID : 98958016072
Status : Answered
Chosen Option : 3

Q.6
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

In July, 1937, the Japanese used an incident to provoke a war. They (1) China and
occupied a major portion (2) it. Chinese and Japanese (3) clashed in northern
China, throwing the entire country into (4) . Millions of people were shot (5)

death.

SubQuestion No : 6
Select the most appropriate option to fill in blank number 3

x 1. mobs
J 2. troops
X 3. crowds

x 4. caravans

Question ID : 98958016073
Status : Answered
Chosen Option : 2

Q.7
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

In July, 1937, the Japanese used an incident to provoke a war. They (1) China and
occupied a major portion (2) it. Chinese and Japanese (3) clashed in northern
China, throwing the entire country into (4) . Millions of people were shot (5)

death.

SubQuestion No : 7
Select the most appropriate option to fill in blank number 4

X 1. tranquility
J 2. turmoil
x 3. peace

X 4. progress

Question ID : 98958016074
Status : Answered
Chosen Option : 2

Comprehension:
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In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

In July, 1937, the Japanese used an incident to provoke a war. They (1) China and
occupied a major portion (2) it. Chinese and Japanese (3) clashed in northern
China, throwing the entire country into (4) . Millions of people were shot (5)

death.

SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank number 5

Ans X" 1 for
x 2.0n
X 3.in
W 4t

Question ID : 98958016075
Status : Answered
Chosen Option : 2

Q.9 Identify the most appropriate option to substitute the underlined segment. If no
substitution is required, select No substitution.

We are going to have pleasure in accepting your kind invitation.

Ans X" 1. We will have a pleasure

J 2. We have pleasure
x 3. We are having pleasure

x 4. No substitution

Question ID : 98958016069
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate word for the group of words.

Something that catches fire easily
Ans 3 1_infallible

J 2. inflammable
#5 3.inflatable
#% 4. incredible

Question ID : 98958016084
Status : Answered
Chosen Option : 2

Q.11 Identify the most appropriate option to substitute the underlined segment. If no
substitution is required, select No substitution.

He persisted to do that he thought was right.
Ans X" 1_for doing this which he thought

( 2. in doing what he thought
x 3. No substitution

#5 4.to do what he thinks

Question ID : 98958016068
Status : Answered
Chosen Option : 2

Q.12 Select the wrongly spelt word.
Ans 3 1 particle
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( 2. consize
x 3. discern
x 4. nurture

Question ID : 98958016087
Status : Answered
Chosen Option : 2

Q.13 Given below are four jumbled sentences. Out of the given options pick the one that
gives their correct order.

A. This code contains information about its nature.
B. Each living organism has a DNA code.

C. If this genetic material is altered, it would alter the organism.
D. The nature of an individual is determined by the unique genetic material in the code.

Ans ' 1 BCDA
o 2.BADC
/% 3.DCAB
/% 4.DBCA

Question ID : 98958016076
Status : Answered
Chosen Option : 2

Q.14 In the sentence identify the segment which contains the grammatical error.

Darkness spilled like ink and began to spread at everything.
Ans x 1. Darkness spilled

J 2. spread at everything

75 3. like ink

x 4. and began to

Question ID : 98958016064
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate indirect form of the given sentence.

Seema said to her daughter, "Don't go near the well."

Ans x 1. Seema requested to her daughter to go near the well.
x 2. Seema told her daughter that don't go near the well.
x 3. Seema said her daughter you shouldn't go near the well.

( 4. Seema warned her daughter not to go near the well.

Question ID : 98958016067
Status : Answered
Chosen Option : 4

Q.16 In the sentence identify the segment which contains the grammatical error.

Despite of his efforts he couldn’t get a decent job.
Ans X" 1. his efforts

J 2. Despite of
x 3. a decent job.

x 4. he couldn't get

Question ID : 98958016065
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Status : Answered
Chosen Option : 2

Q.17 Select the most appropriate synonym of the given word.

THRIFTY
Ans ( 1. frugal

x 2. grand
5 3.rigid
x 4. discreet

Question ID : 98958016079
Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate meaning of the given idiom.

Gift of the gab

Ans X 1. receive a precious gift
x 2. achieve sudden greatness
J 3. have the talent to speak well

x 4. have the ability to adapt

Question ID : 98958016082
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate antonym of the given word.

PROSPERITY
Ans X" 1. nobility
X 2. affinity
5 3. simplicity
J 4. adversity

Question ID : 98958016080
Status : Answered
Chosen Option : 4

Q.20 Select the most appropriate antonym of the given word.

CENSURE
Ans & 1_distrust

X 2. criticism
J 3. praise
x 4. shame

Question ID : 98958016081
Status : Answered
Chosen Option : 3

Q.21 Fill in the blank with the most appropriate word.

During the curfew the army was
Ans " 1. employed

X 2. supplied

J 3. deployed

at strategic locations.
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x 4. dispersed

Question ID : 98958016089
Status : Answered
Chosen Option : 3

She answered fifty questions in one hour.

Ans J 1. Fifty questions were answered by her in one hour.
X 2. Fifty questions were being answered by her in one hour.
X 3. Fifty questions have been answered by her in one hour.

x 4. Fifty questions are answered by her in one hour.

Q.22 Select the most appropriate passive form of the given sentence.

Question ID : 98958016066
Status : Answered
Chosen Option : 1

Q.23 Select the correctly spelt word.
Ans J 1. February

X 2. Janury

x 3. Octuber
x 4. Novamber

Question ID : 98958016086
Status : Answered
Chosen Option : 1

Q.24 Select the most appropriate word for the group of words.

One who is difficult to please
Ans J 1. fastidious

X 2. fanatic
x 3. fatalist
x 4. feminist

Question ID : 98958016085
Status : Answered
Chosen Option : 1

Q.25 Select the most appropriate meaning of the given idiom.

To take the bull by the horns
Ans X" 1. to escape unhurt

X 2. to act foolishly
x 3. to enjoy risky sports

J 4. to face danger boldly

Question ID : 98958016083
Status : Answered
Chosen Option : 4
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